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program pillar
implicit none
real(8) :: r, h, pi
Intrinsic atan

pi = 4.0D0 * atan(1.0D0)

write(*, *) "Takasa: *©
read(*, *) h
write(™, *) "Hankel:
read(*, *) r

write(*, *) "Taiseki = ", h * r * r * pi

stop
end program
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Error:

% ./pillar
Takasa:
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Error: Takasa must be > 0.0 ERRLTRT

write(™, *) "Takasa: "

read(**, *) h

iIT (h <= 0.0D0) then
write(™, *) "Error: Takasa must be > 0.0"
stop

end 1f
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program pillar
implicit none
integer :: prob

write(*, *) "Probability of the rain: *
read(*, *) prob

iIT (prob >= 50) then

write(**, *) "May be 1t will rain."

write(*, *) "Don"t forget to bring an umbrellal"
end 1f

stop
end program
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else

end 1f

write(™,
write(™,

*)

*)

*) "
*) "

iIT (prob >= 50) then
write(™,
write(™,

"May be 1t will rain.
Don"t forget to bring an umbrellal"

May be 1t will not rain."
You may go without an umbrella.™
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if (&) then

Fhzem-IHEEDNE

else

end 1f
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if (prob >= 70) then

write(™, *) "Don"t forget to bring an umbrellal"
else 1T (prob >= 50) then

write(*, *) "You should bring an umbrella."
else 1T (prob >= 30) then

write(™*, *) "You may go without an umbrella."

else *

write(*, *) "You don"t need an umbrella.™

end if FHATRI=9 7
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it (&H##A) then
FEAZFH-TIHZEDONE
else if (£#%B) then
FHhAZxmI-9, £HBEHmI=-9IHEDNE
else if (F#HC) then
FHALEHBLRET-T, FHCEF/-ITIHEDNE

else
EDEFBHBI-SIEWGEDNE
end 1f
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iIT ( prob < 0 .or. prob > 100 ) then
write(*,*) "Error: Wrong probability ", prob
stop

else 1T (prob >= 70) then

write(™,*) "Don"t forget to bring an umbrellal"

else 1T (prob >= 50) then

write(*,*) "You should bring an umbrella."
else 1T (prob >= 30) then

write(*,*) "You may go without an umbrella.™
else

write(*,*) "You don"t need an umbrella."
end 1f
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iIT ( prob >= 0 .and. prob <= 100 ) then
iIT (prob >= 70) then

write(*,*) "Don"t forget to bring an umbrellal”

else 1f (prob >= 50) then
write(*,*) "You should bring an umbrella."

else 1Tt (prob >= 30) then
write(™™,*) "You may go without an umbrella."

else
write(*,*) "You don"t need an umbrella."
end 1f
else
write(*,*) "Error: Wrong probability ", prob
stop

end 1f
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select X

e select 3X D F|FHH

select case(prob)
case(70:100)

write(™, *) "Don"t forget to bring an umbrellal™
case(50:69)

write(™, *) "You should bring an umbrella."
case(30:49)

write(™*, *) "You may go without an umbrella."
case(0:29)

write(™*, *) "You don"t need an umbrella."
case default

write(™, *) "Error: Wrong probability ", prob

stop
end select
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select case(R)
case(fE1)
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case default
RDENEDEIZLEENLGEEDONE
end select
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50 TDEE
"nN"LIFEDXFDZE

o BHDIE
) 1,5, 10 DIFE
‘c‘,’t” DEE

case(20)
case("d")

case(0:10)
case("a":"e")
case(:50)

case("n":)

case(1,5,10)
case("c","t")
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program power_1
write(*, "(a,i110)") "2** 1:°,2**1
write(™, "(a,110)") =2** 2:7 2**2
write(™, "(a,110)") =2** 3:7,2**3
write(*, "(a,i110)") "2** 4:",2**4
write(™, "(a,i110)") "2** 5:", 2**5
write(*, "(a,i110)") "2** 6:",2**6
write(*, "(a,i110)") ="2** 7:%,2**7
write(*, "(a,i110)") "2** 8:",2**8
write(*, "(a,i110)") "2** 9:* 6 2**Q
write(*, "(a,i110)") "2**10:",2**10
write(*, *) "Donel!-*

stop

end program
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BRUIRLOAA:
write(®, <(“2**”, i4, “:”, 1x, i10)7) i, 2**i
i & 20 ERE
program power_ 2
implicit none
integer :©: 1
do 1=1,10
write(*, (2%, 14, "', 1x, 110)7) 1, 2**1
end do
write(™, *) "Done!"
stop
end program
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do1 =1, 10

write(*, “('2**", 14, "', 1x, 110)") 1, 2**i

end do

i=1 write(*, (2%, 14, "', 1x, 110)") 1, 2**1
)

i=2 write(*, (2%, 14, "', 1x, 110)") 1, 2**2
)

i=3 write(*, “('2**", 14, ', 1x, 110)") 1, 2**3
¥
. 8

i=10 write(*, “('2**", 14, ":", 1x, 110)") 1, 2**10
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program power_3
implicit none
integer :: 1,start,end

write(*, "(a@%$)") "Start: -
read(*, *) start

write(™, "(@%$)") "End: *©
read(*, *) end

do 1=start,end

write(*, “('2**",14, "', 1x, 110)") 1, 2**]
end do

write(*, *) "Donel!*

stop
end program
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do 1=1,10
i =1
write(*, “(C'2**",i2, ", 1x, i5)") i, 2**i
end do
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stop

program samplel
implicit none
integer :: 1,n

write(*, *) "Enter N :-*
read(*, *) n
IT (n <= 0) then
write(™, *) "Error: N must be > O
else
do 1 =0, n

write(*, *) "2%*", j, "=", 2%%j

end do
end 1f

end program
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program samplel
implicit none
integer : 1, jJ, n

write(™*, *) "Enter N :-*
read(™*, *) n
iIT (nh <= 0) then
write(™, *) "Error: N must be > O
else

stop
end program




O

K535
Rl L




BT BH-FEH

dbleBi# (BFREEHEAN)
o FIHIZEIHOFSIC

EE:§Q<Z>n1TE$]-3314.'3_%5

L\’CL\%;*%‘M &

program toreal
implicit none
integer :: |
real(8) :

do 1=1,6
write(**, *)
end do

stop
end program

intrinsic dble,cos, atan

pi = 4.0D0 * atan(1.0D0)

"cos(pi/",1,

)=",

cos(pi/dble(r))
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intBA%K, ceilingBA%K, nintBA4K
o INEAE LT DR THELSF

o YIUFET int
) int(4.2) — 4

o YIYEIF ceiling
1) ceiling(3.1) — 4

o WEFRA nint
1)  nint(4.495) — 4
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iIT ( prob>=0 .and. prob<=100) then
if (prob >= 70) then

else 1T (prob >= 50) then

write(**, *) "You should bring an umbrella."
else 1Tt (prob >= 30) then

write(*, *) "You can go without an umbrella."

else
write(*, *) "You don"t need an umbrella."
end I1f
else
write(*, *) "Error: Wrong probability ', prob

stop
end 1f

write(*, *) "Don"t forget to bring an umbrellal!"
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program samplel
implicit none
integer -: 1, J, n

write(™*, *) "Enter N :-*
read(**, *) n

iIT (n <= 0) then
write(*, *) “Error:
else

do1 =1,
do j =1,
write(*, *
end do

end do

end 1f
stop

end program

N must be > 0OF
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program samplel
implicit none
integer :: i1, jJ, n
write(*, *) "Enter N :*
read(*, *) n
iIT (n <= 0) then
write(*, *) “Error: N must be > O°
else
do1 =1, n
do J =1, n
write(*, » 1, " * ", 3, " =", 1% ]
end do
end do
end if
stop

end program
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